FTERERRBREREICONT

TERBHERREELE

NEEANRBRE T, AFTEROER-—XICEYCHINT SBERND. FIE
DEB (UTICEH) ZRELLSEICETIRETOERIZOVTOFMEMN G S
N, MEEETEDHDLERL>THYFT,

BEFBENEDDEEICEDE, AHRICETIAMERBRIEEZENVEER
MaERNRN=LFET,

o

/5@‘%% LR DATEDERE

1 .fh

2 FREREAAE
3. wREE
4 BEESFRA

* N DENIIRBBELEOEICOWTIEIRBAERL-IBRICOAETET S

(2021479 FrIERBERBEERICHRD RO ERIRI]

E - I
y =Sl s
b % = B T &= = EAAEIE &
A = YN
masman| j*ml\ﬁﬁﬁ 4/7~13| 7
WER  |7FmAX 2> >DS (400) 65
®RE |KERZZ
IR S e NSk (500) Age/8 [4/7~13| 7
JAOroEy 3%e/H
EX I N i Y] .
B BEE %«ﬂ% 1R R 111~15] 5
(RIEBRE) WR [LA7ox4> > (500) 15e/8
EXEEX% AN AT AN 0~ — >
SRl BE ﬁﬁﬁﬁ.}r7 R—/8—) 118~24| 7
(REEBH) WER |HRX 3> >DS (400) 68/H

1/56~=%




[20215F6 B %

FTEREBMEEEE IR ABEDEMRIKIL]

SE - &

\ S N
A % = B % = = E AR 25
A\ A oY 7N
T L fﬁﬁ( 6/14~18
Wik [FX 22 >DS (400) A8/ H
b AN I:l o o
T B L \(? N 6/15~19
N AR FZX 2 >DS (400) 48/8
= o1 YN
T I L 6/18~22
Wik [FZX I >DS (400) A8/ H
= o1 YN
Rusman| o [RI - BR —{6/23~29
WAR | X4 772 & (100) 3%%/H
BEmk|l W O[T U > (250) 338/ 8 [6/25~30
& |mm - ez 2 B LR (=
A 7@% 1 Hj‘@_ RCT (Tmﬁ[%‘d&&\l%éc <) 6/28~17/2
S [4AEAEKIOM+XxaRxLlg | 2[E/H
[2021F7TB % FIEREBIERESEICHR 2 ABEDREIA ]
LB - P
\ =S %
& 2 = B & = E AR W
N ST . IROT # I i -
I 7@% 1 Hj‘@_mﬁc (Tﬂﬂﬁ[%“ﬁ%@c <) 6/28~7/2
SE (4 EAEKIOM+XxaRxLlg | 2[E/H
‘Esxl Wi |7 7LvoX 6%€/H |7/15~21
AN A AN I:l °___ o
P L Lalls \(? N/t 7/30~8/3
WIR |RX3I>DS 622/H
(202188 FIEREBIERESE IR S ABEDREININ]
LB - P
\ =S ¥
& % = B & = EHEHAR W
AN A AN I:l °___ o
e n [PUR \(7 N 7/30~8/3
WIR  |"RX I DS 62/H
BE |X-P CT #m (HBHEEEESICT)
AERIEAKIOOW+OE 7 4 1g 5%
G mRE Fi 2% BOE |V g 18500mC T 1A R F T 4 UL IALTY SRS V1A 8/31~9/5
VU Z35500ml+C/RZ1IA+FF 7 4 U VIA+T Y v RT V1A
Z D |EgE&E1~1.50L
BE |X-P CT #m (HBHEEEEICT)
=} HEiE af
SO A & EE?{ A100mé+ 253 S %ﬁﬁ 8/19~25
WER  |L3a%4> (500) 9%/ H
249 I B 74 il I et 3%/ H
A\ A A~ — /85—
T L Ll \(T] A 8/25~30
WER  |/mRX 2 >DS (400) 68/H

2/5 =2




[20215F 98 %

FTEREBMEEEE IR ABEDEMRIKIL]

SE - &

w4 = Fe HA ] 2
5 H & & = "
BE |X-P CT #m (HHEEEEICT)
AEEIEKIOOM+EtE T 4 >1g 5%
SR b i 2% ST VU £ 18500M+C8F1A+FA 7 4 UV 1A+T U > =5 V1A 8/31~9/5
VU Z35500mé+C/XF 1A+ F 7 4 U V1IA+T U »RT V1A
Z Dty [BR=1~1.5L
by AN dr A
kRt RE ®R CLE) , 9/6~12
WEE (73U (250) A%/ H
RE BRI
R T R % 9/8~13
TR w7 U (250 652/ H
(20211089 FIEREBREIEESE IR AEDERMEIRT]
E - BRI
\ oM %
ES] % = B & = EHEHAR 25
RE BRI - BRER
meRaEl  NAR [RX T3> DS (400) 65/H8 |10/27~31
ST AIEEIEAKI00M, X I Slg |1E/H
[2021F11B %9 FIEREREIEEE IR AEDEMEIRT]
E - R
\ M ¥
ES] 4 = B & = == e EA W
AN A 5
SRR ﬁf‘ Ll i 11/10~15
U AIEIEK250 - X ORRLLg 2]/ H
BEsA|  SUE [EEAEAKI00- 7 MY TFY 1g|2E/H([11/15~19
AN A AN
| R [BRIR 11/25~30
WIR [~ X 322 >DS (400) 48/ H
[2021F 1289 FIEEEEXEERSE IR BEDERINN]
E - I
) ESh-m) ¥,
b % e 7 = = SEHEHAR #
AN A AN Jrh AT
uman| o |BRR OEE) ——{12/6~12
WER [LA7ox4> > (500) 188/H
A e AN o e
PR B& B fE = BRpR( A~ —/5—) 12/30~1/4
M AR XA 7k (100) 3T/8

3/5~_=2




(202218 %

FTEREBMEEEE IR ABEDEMRIKIL]

E -
\ S .
= % = B % = = = i HA ] 254
AN A AN o ___ o
TR B8 B E BRE BR(Y A=/ —) 12/30~1/4
WNAR | A4 72 (100) 358/ H
= A
mrman|  m PR . 1/6~11
WAR  [FX > >DS (400) 62/H
= A
mama] m | 1/7~11
WAR  [7FX > >DS (400) 62/H
b AN l:l o o
B B R *ﬁﬂ 7]?&)77% ('7 NN ) 1/7~13
NE |LA7aFxH > (500) 1/8
== YN oA
e BE |BEm - %R CEE) . 1/17~23
WA (7> U > (250) 358/ H
= A o e
w2 |RE (7R 1/22~27
N AR FZX 2 >DS (400) 62/H
(2022528 FAERBIERESE IR S BEDEEIR ]
ME -
y o e *
ES] % = B & = EHEHAR 254
BRE  |[RK
PR B R 2/2~T7
: WIR | XA 72k (100) 3%/
BE &K
RS 2/18~22
: WIR | XA 72 F (100) 35%/ A
. T . b FR A
T **E_ﬂ &ﬁ( AR 2/24~28
MR |25y (500 15288/ B
A e =
s o PR S Py 71 I
mIR (72U (250 65t/ 8 4
s Bl VN =y
- BE |BMO - BERLE 2 /283/3 1
WA [FX 3> DS A8/H 3

4/)5 <=




[2022F3 8 %

FTEREBHESERE LRI ABEDERIKN]

B - I
\ e y
m A = B = = = EHeHIR| B &
AN A v/
P —Nooraaf?B 2
WAR (U7 U~ (250) 65/ H 38 4
= o1 . AR R
S I 5 228373120
WER  |7RA I >DS A8/H 38 3
— A
T L Ll . —13/1~3/3
WiR |7 U > (250) 3%€/H
BE  |BR (7aR—s3=)
PR 2% R E . LAR7OFH > (500) 14288/ H[3/6~3/12 5
77ty bk (500) 15880/ H 2

5/5 =




